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Part A
	U Value  Table
	
	
	
	
	

	
	
	
	
	
	

	Element/Material
	Conductivity (K)
	Resistivity (1/K)
	Thickness (m)
	Resistance ( R )
	

	Int. Surface R
	
	
	
	0.104
	

	Sand/Cem. Screed
	
	0.71
	0.060
	0.0426
	

	Concrete slab
	0.160
	6.25
	0.100
	0.625
	

	DPM
	0.250
	4
	.00025
	0.001
	

	Sand Blinding
	0.160
	6.25
	.050
	0.3125
	

	Hardcore
	1.33
	0.75187
	.225
	0.169
	

	Subsoil
	1.800
	0.555
	.300
	0.1666
	

	
	
	
	
	
	

	
	
	
	Total R
	1.4207
	

	
	
	
	
	
	

	
	
	U Value
	1/Total R   =
	0.70387
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Part B
Calculate the rate of heat loss

Area ( m² ) x  Temp. diff  x  u value  =   w/sec  or  Joules / sec
63  X  15  X  0.704  =  665.28 w/sec  or  Joules / sec

Use the Heating period    and    multiply by rate of heat loss

Heating period per annum

12  X  7  X  40 = 3,360

6o  x  6o  x  3,360   =  12,096,000  X 665.28 divided by 1000 to get Kw/KJ

=  8,047,226.88 Kj

1 litre of Oil   =  37,350 KJ
Therefore

8,047,226.88  divided by 37,350  =  no. of litre  =  215.45 Litres

  @ 0.85 cent / Litre =  € 183.14c  = annual heating cost
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